2X Tables

1) Circle the 2s counting pattern.
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2) Finish the number patterns.

2,4,_,8,10,__,
_, Ml , 22,
10, __, 6, , O
18, 16, ., 12,
, 6,__, 10,

3) Count in 2s to count the helicopters.

o

/3) Draw and solve.

How many chocolate chips are there in all?

Molly buys 5 cookies. Each cookie has 2 chocolate chps/ \
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3x Tables

1) Circle the 3s counting pattern.

1123 4|5 6|7 /|8)|9 |10

n|12|13 14|15 |16 |17 18 19 |20

21222324 |25 26|27 | 28|29 |30

31 13233 /34|35 36|37 38|39 40

41 142 |43 |44 | 45 46 | 47 | 48 | 49 | 50

5152|5354 |55 56|57 |58|59)|60

61 | 6263|6465 6667|6869 70

N |72 |73 74|75 76 |77 | 78 | 79 | 80

81 | 82|83 |84 |85 86|87 8|89 9

91 |92 |93 /94|95 96| 97 | 98 | 99 (100

2) Finish the number patterns. 3) Count in 3s to count the jumpers.
3, 6, ., 12, __, 18,
-2 o3 3
] 2|: 2LL _ ) L\\ﬁ% ~} + %\f 2 + %\f 2
S0 TS0 TS
|8, —_—) |2; 91 —_—t ——
+ + =
J J 3OJ —_— —) 39
) 301 _ 2‘-'1 - X =

/3) Draw and solve. \

A shop has 6 hats. There are 3 stars on each hat.
How many stars are there altogether?

o
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4x Tables

1) Circle the 4s counting pattern.

1123 4|5 6|7 /|8)|9 |10

n|12|13 14|15 |16 |17 18 19 |20

21222324 |25 26|27 | 28|29 |30

31 13233 /34|35 36|37 38|39 40

41 142 |43 |44 | 45 46 | 47 | 48 | 49 | 50

5152|5354 |55 56|57 |58|59)|60

61 | 6263|6465 6667|6869 70

N |72 |73 74|75 76 |77 | 78 | 79 | 80

81 | 82|83 |84 |85 86|87 8|89 9

91 |92 |93 /94|95 96| 97 | 98 | 99 (100

2) Finish the number patterns. 3) Count in 4s to count the cupcakes.
H, 8,__, 16, , 24,
SR _
— 0 —— eg'egeees =
28, __,20,__,__,8
+ + + + =
, H0, __, 48
, M, 16, X =

/3) Draw and solve. \

A pet store has 7 fish tanks. There are 4 fish in each.
How many fish are there in all?

o
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5x Tables

1) Circle the 5s counting pattern.
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2) Finish the number patterns.

5 10, __, 20, , 30,
_ 4,50, __,_
25, 35, , 50
, 5, 25
, 30,

o

/3) Draw and solve.

There are 4 trees. 5 birds are in each tree.
How many birds are there altogether?
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6x Tables

1) Circle the 6s counting pattern.
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2) Finish the number patterns.

6, 12, ___, 24, ,

60, 54, __, 42,

36, __,__, 4,
,_,30,__, 18,
, 24, 36,

, H2

o

/3) Draw and solve.

There are 5 flowers. Each flower has 6 petals.
How many petals are there altogether?
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7x Tables

1) Circle the 7s counting pattern.

7 N 2] 28 39

1123 4|5 6|7 /|8)|9 |10

n|12|13 14|15 |16 |17 18 19 |20

21222324 |25 26|27 | 28|29 |30

31 13233 /34|35 36|37 38|39 40

41 142 |43 |44 | 45 46 | 47 | 48 | 49 | 50

5152|5354 |55 56|57 |58|59)|60

61 | 6263|6465 6667|6869 70

N |72 |73 74|75 76 |77 | 78 | 79 | 80

81 | 82|83 |84 |85 86|87 8|89 9

91 |92 |93 /94|95 96| 97 | 98 | 99 (100

2) Finish the number patterns.

7, H,__, 28, _ |, , H9
56, H9, __, 35,
56: ) 77; I Ql
+ + + =
_, 70, 63, __, 49, T T
,28, 35, X =

/3) Draw and solve. \

Dan dug 3 holes. He put 7 seeds in each hole.
How many seeds are there in total?

o
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8x Tables

1) Circle the 8s counting pattern.

1123 4|5 6|7 /|8)|9 |10

n|12|13 14|15 |16 |17 18 19 |20

21222324 |25 26|27 | 28|29 |30

31 13233 /34|35 36|37 38|39 40

41 142 |43 |44 | 45 46 | 47 | 48 | 49 | 50

5152|5354 |55 56|57 |58|59)|60

61 | 6263|6465 6667|6869 70

N |72 |73 74|75 76 |77 | 78 | 79 | 80

81 | 82|83 |84 |85 86|87 8|89 9

91 |92 |93 /94|95 96| 97 | 98 | 99 (100

2) Finish the number patterns. 3) Count in 8s to count the trees.

8 ., 2,32, __,__,5
LYY TPLY PP

, 64, __, 80, QU + QOQPP t QOO0 =
9, ., M, __,8 + + _
, 12, ,__, 96,
,32, M, X =

/3) Draw and solve. \

The librarian put & books on each of the 4 shelves.
How many books are there in total?

o
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9x Tables

1) Circle the 9s counting pattern.
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2) Finish the number patterns.

9, _ ,27,36,__,__, 63
, 712, __, 90,
63, , 36, __, 18
, o4, , 8,
, 99, 108,

3) Count in 9s to count the pencils.

/3) Draw and solve.

There are 2 boxes with 9 plates in each.
How many plates are there in all?

o
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10x Tables

1) Circle the 10s counting pattern.

1123 4|5 6|7 /|8)|9 |10 H©

n|12|13 14|15 |16 |17 18 19 |20

21222324 |25 26|27 | 28|29 |30 2

31 13233 /34|35 36|37 38|39 40

41 142 |43 |44 | 45 46 | 47 | 48 | 49 | 50 @@

5152|5354 |55 56|57 |58|59)|60

61 | 6263|6465 6667|6869 70

71|72 |73 74|75 |76 | 77 78 | 79 | 80 &H@

81 | 82|83 |84 |85 86|87 8|89 9

91 |92 |93 /94|95 96| 97 | 98 | 99 (100

2) Finish the number patterns. 3) Count in 10s to count the cupcakes.
0, 20, _, 40, __, 60, .
g
80,70, _,__ T +
P
20,___, 100,__,__ , 70
+ + + + =
y o _,50,_,70
, 80,__ 100, __, X =

/3) Draw and solve. \

There are 3 ponds. Each pond has 10 fish.
How many fish are there in total?

o
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